[image: image14.wmf]p

a



Q1) Assume that you have the following information 

	Probability 
	Market Price
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	.10
	60
	
	
	

	.25
	72
	
	
	

	.30
	80
	
	
	

	.25
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	100
	
	
	

	
	
	
	
	


If you know that the Exercise price is 76 $ calculate the expected value of call option

Q2) Assume that the market price of stock (A) is 150$ and the probability of the stock price to increase to be 165$ is 70% and the probability of the stock price to decline to be 145$ is 30%. If the exercise price is 155 $

Required 

1) Calculate the expected value of the stock price?

2) Calculate the expected value of the call option?

3) Calculate the hedging ratio?

4) Calculate the value of the hedging position?

If the risk free rate is 5% calculate the value of the premium and the overall?
Q3) A call option enables the holders to acquire one share of stock at 145 $ each, option has 6 months until its expiration. The market price of the stock is currently 150 $ a share and the expected standard deviation of its expected return over the near future is 0.40 the short term annual interest rate is 0.06 on the basis of this information what is the proper value of the option using Black and Scholes model? If the option market value is 8 $ what is your decision? 
Q4) Assume that the market price of EL-EZZ Company on March 20th is 200 $ and the investor expects that the price of this stock will decline in May 20th. So he decide to sell a PUT option for this stock with premium 8$. and the exercise price 200 $ (the same as the market price) 

· 1) Calculate the gain or loss for both the investor (Buyer) and the option writer with following scenarios (the price of the XY company on May will be 240 220 208 192 140 130 120 110). 

· 2) Draw the relationship between the gain or loss for both the investor and the option writer and the stock price during May 20th ? 

Q5)
1) Suppose that the stock price of company (A) is 100 $ and the investor decides to buy 100 shares. If the initial margin is 60% show the investor’s balance sheet and calculate his margin?

2) If the stock price declines to be 70$ per share, show the investor’s balance sheet and calculate his margin?

3)  If the maintenance margin is 30% how far can the stock price fall before the investor gets a margin call?

4) Suppose the maintenance margin was 40% how far can the stock price fall before the investor gets a margin call?

5) If the stock price increased to be 70$ per share, show the investor’s balance sheet and calculate his margin?

6) Calculate the rate of return if the price increases from 100$ to 130$ and if it is decline from 100$ to be 70$, if you know that the interest rate of the loan is 10%, ignore the dividends.

Q6) assume that you have the following data for two portfolios,

	Market (M)
	Portfolio B
	Portfolio A
	

	10%
	13%
	15%
	) Rate of Return 
[image: image3.wmf]R

)

	15%
	22%
	25%
	Standard Deviation
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	1
	1.1
	1.5
	Beta 
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	5%
	5%
	5%
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Required
1-Evaluate the two portfolios using the Sharpe index?

2-Evaluate the two portfolios using the Treynor index?

3-Evaluate the two portfolios using the Modigliani and Modigliani measure
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4-Evaluate the two portfolios using the Jensen index?

Q7) Define the following definition 

1) Strike price or exercise price

2) Option premium

3) Long position in an option

4) Short position in an option 

5) European option vs. American options

6) Calls vs. Put

7)  Intrinsic value 

8) in-the-money. 

9) out-of-the-money.

10)  At-the-money

11)  Speculative Value
Some equations may be you need it
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or
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� EMBED Equation.3  ���= rp - [ rf + ßp ( rm - rf) ]
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